®
HYVA PNEUMATIC KNOCK-OFF I' IVA

ADJUSTABLE
BOLT
A
3 N2 D
<
O &
\ M8
112 32
104 28 (Extended) 2. TO TIPPING
2 VALVE "TIP"
15
% . (= R el o 3: EXHAUST
D =4 1 1: FROM AIR
@) D &) SW10 CONTROL "TIP"
ve | |-1Mé
3D model is available on request
Specifications Pneumatic symbol
Part no. 14700506
Mounting On cradle 2
Max. working pressure 10 bar
Air tube size a6 mm
Temperature range min / max -40 / +80 °C W j
Weight (incl. bracket) 0,6 kg T1lT
\V
Stroke 15 mm 1 3
Bolt adjustment length 18 mm
Part list Spare parts
Included with knock off: Qty. Part No. Description Qty
Mounting Bracket 1 14700507 Seal kit 1
Mounting Kit: - 14810517 Air coupling straight - @6mm 2
- Hex. Bolt M8x30 2 14810566 Air coupling 90 degrees -@6mm 1
- Washer M8 2
- Nyloc Nut M8 2
- Washer M6 2
- Nyloc Nut M6 2
- Adjustable Bolt M6x30 1
- Adjustable Bolt M6x40 1
- Counter nut M6 1

Technical notes
Make sure inlet air is dry and clean

Related documentation
Mounting instructions: KNO-0020 Repair instructions: KNO-0005

www.hyva.com

Subject to change without notice, no rights reserved Page 1/1 DO-E 14700506 / 2016-11-18 / AF




